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B 3E NS 25

T RHH w2 | B | RS | GRERG | R
FHIHE T 0 85. 84 85. 84
FHIHA K 0 83. 60 83. 60
ST &) Z2 2% 12 91. 40 103. 40
FHIHE i E 0 83. 30 83. 30
e =] Ik S 1 85. 30 86. 30
FHHE A2 T 0.5 91. 20 91. 70
FHHE FhGESE 1 85. 10 86. 10
FHIHE RIEFES 0 78. 90 78. 90
FHIHA El\prmlii 0 79. 10 79. 10
FHIHE YN 0 80. 10 80. 10
e 4] Eii 4.5 82. 74 87.24
IR g=] EH 0 81. 60 81. 60
FHIHAE T & 0 81. 80 81. 80
FHIHE H— ML 0 83. 50 83. 50
FHIHAE R 0.5 76. 60 77. 10
FHIHAE % 0 80. 20 80. 20
E g DALY 0 84. 12 84.12
FHIHAE T SR 0 81. 02 81. 02
FHIHE TR 0 78. 70 78.70
FHIHE PRI 1 80. 96 81. 96
ST 4] B EAX 1 83. 02 84. 02
FHIHE BEE 0 79. 60 79. 60
e e it 2 89. 80 91. 80
e 4] i 0 80. 30 80. 30
FHIHE PN A 0 81.58 81.58
FHIHE H = 0 74. 40 74. 40
S 4] kS 1 83. 80 84. 80
FHIHE Ji i & 0.5 91. 00 91. 50
FHIHE A fp 5 88. 08 93. 08
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2024)m B 2 TVE A TE RIS L8 A ks
T RHH w2 | B | RS | GRERG | R
FHIHE Tl 1 86. 02 87. 02
FHIHE EGE 0 86. 56 86. 56
FHIHE P& 4 80. 50 84. 50
FHIHE gkl 25 1 88. 00 89. 00
FHIHE KE 0 82. 54 82. 54
FHHE F NG 0 81. 96 81. 96
FHHE sl 0.5 84. 38 84. 88
FHIHE Z= It 0 77. 20 77. 20
FHIHE NN 3.5 83. 54 87. 04
FHIHE Wit i 0 77. 56 77.56
e g PR 14 91. 64 105. 64
FHHE sk/N 0.5 91. 16 91. 66
FHIHE ZR 1.5 85. 02 86. 52
FHIHE 7K 0 80. 76 80. 76
DL X E 1 84. 30 85. 30
WIHIE S INEFE 11 93. 16 104. 16
WIHIE R 6 79. 34 85. 34
HIHIE TEH 0 90. 62 90. 62
WIHIE S o 0 75. 72 75. 72
I IESC T 0 83. 46 83. 46
WIHE i B 1.5 92. 34 93. 84
WIHIE Vit 0.5 81. 64 82. 14
WIHIE +% 1 80. 50 81. 50
HIHIE 7k 5% e 0 90. 92 90. 92
DL (VN 0 84. 70 84.70
/INEETE S R F: 4 88. 10 92. 10
NG =T 0 88. 78 88. 78
INEEAE L (ER 3.5 92. 00 95. 50
INEEAE L 05 1 86. 42 87. 42
INEEAE L eV 0 77. 84 77. 84
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20248 B A SR 5 Xk 2 A K 4

T RHH w2 | B | RS | GRERG | R
/INEETE S T 4 93. 76 97. 76
INEEAE L X1 Rk 1.5 93. 02 94. 52
INEEAE L P 1 87. 22 88. 22
NG 7K 4.5 79. 34 83. 84
NG TR 0.5 84. 92 85. 42
RF U T S RRE 0 82. 66 82. 66
RF U TG S XI5 i 0.5 87. 36 87. 86
RF U T TE S FETE 1.5 91. 64 93. 14
WIrhiELE 5kR ZRNE 1.5 86. 60 88. 10
Wb iEfE 5kR XI| 3t — 5.5 92. 80 98. 30
WIrhiELE 5kR BE 0 74. 20 74. 20
Wb iELE 5kR JIFER 5.5 92. 20 97. 70
WIrhiELE 5 kR ok 0.5 92. 00 92. 50
WIrhiELE 5kR XV 0 80. 80 80. 80
WIrhiELE 5kR BUEI 0 74. 80 74. 80
NFEITEE 505 Htas 0 83. 40 83. 40
Wb Hb 3 7L 3.5 88. 20 91. 70
GBI TKHE 0 80. 40 80. 40
GBI (e 1 70. 60 71. 60
GIBIE FH ik 0 88. 80 88. 80
LS SSERN 2 86. 40 88. 40
LS A& 3 81. 60 84. 60
LS M 0 83. 40 83. 40
LS FEZ 0 73. 40 73. 40
IR XI| 1 84. 00 85. 00
LS F/NER 7 88. 00 95. 00
LS XA 4 5 82. 60 87. 60
LS % H AR 5.5 83. 60 89. 10
LS 52 2.5 91.20 93. 70
Wi Ay 2B 5 88. 32 93. 32
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2024)m B R 2~ B

B 3E NS 25

T RHH w2 | B | RS | GRERG | R
Wi Ay fiheE 2.5 76. 02 78. 52
Wi Ay MR 1.5 79. 28 80. 78
Wi Ay & 0 74. 36 74. 36
Wi Ay GEHE 3.5 86. 90 90. 40
Wi Ay fa PR 0.5 88. 46 88. 96
Wi Ay B 0 81. 02 81.02
Wi Ay XIS K 0 82. 62 82. 62
Wi Ay +A] 0 86. 18 86. 18
Wi Ay -5 0.5 90. 54 91. 04
Wi Ay +E&T 0 88. 68 88. 68
Wi Ay Ty 0.5 76. 54 77.04
NP T 0.5 80. 98 81.48
NP R 1 85. 34 86. 34
NP XI| X Ak 0 88. 14 88. 14
NP KAGAE 4.5 86. 44 90. 94
NP T 2 84. 58 86. 58
NP iR 1.5 90. 86 92. 36
IR R & 0 87. 94 87. 94
L e P 1.5 89. 36 90. 86
Wk =R 0.5 81.76 82. 26
AL A EF 0 75. 30 75. 30
IR AEBE % 1 83. 92 84. 92
IR AEBE R PR 2 81. 38 83. 38
GILMEXY)| 1R IR 2.5 83. 56 86. 06
GILMEXY)| SRS 2 86. 24 88. 24
Wi Ak B 0 78. 90 78. 90
IE A= 2575 &l 0 90. 50 90. 50
IR A= X1 3.5 88. 80 92. 30
IE A= e il 0 78.50 78.50
B A= FilgT 0.5 83. 30 83. 80




20248 B A SR 5 Xk 2 A K 4

T RHH w2 | B | RS | GRERG | R
IE A= HE 0 88. 40 88. 40
N IR AT 4T 2 92. 40 94. 40
INPARE SRR [ %2 1 93. 94 94. 94
INPARE SRR AR 0 81. 70 81.70
INPARE SRR XS 6.5 91. 52 98. 02
INPARE SRR FRaT 4 84. 50 88. 50
INPARE SRR 3 B if 0.5 80. 90 81. 40
Wbk s 51 RERK 3.5 83. 74 87. 24
INFRAR ik 3.5 90. 80 94. 30
INFRAR R 5 91. 80 96. 80
INFIER T 3.5 87. 30 90. 80
INFRAR sy ci1 0 77. 40 77. 40
GILAESYN WS 0 77.80 77. 80
AN EPSE N 27— 0.5 82. 30 82. 80
AN EPSE N REHE 0.5 88. 00 88. 50
AT BER MR 0 78. 20 78.20
NPT BAER FE ML 1 84. 00 85. 00
W E BEOR B— 0 90. 10 90. 10
W E BEOR FEIRAS 0 77.30 77.30
GIERERSES#N S N 4 90. 60 94. 60
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